YpaBuenus
1. IIpuBeauTe mo00OHBIE CllaraeMble
a. 3x+5x—-x=@3+5-1)x=7x

8x-3x+x=

x-3x+7x=

lIx+x-12x =

© oo o

Sx+5x+3x=
f -8x+8x—-—x=

2. Boibepure U3 JaHHBIX YHCET KOPEHb YPaBHEHUS

a. 3x—-15=0
DE 2)4 [3)5 |
b.2x+12=0
DE 12)-6 13)7 |
C. dx+2=-x+7
(1) 1 [2)-1 13)0 |
d.3(x-1)-6=0
DO 2)3 13)-2 |
3. Pemnre ypaBHeHHS
A)5x-15=0 b) -2x =24 B)3x-21=0
x=15:5
XxX=3
Oreer: x =3 OrBer: X = OrBer: X =
MN3x-1=5 D -x+6=11 E) 5x +2=-13
Ix=5+1
3x=6
x=6:3
X =2
OtBer: x =2 OTtBeT: X = OtBeT: X =
X)dx-13=8+x 3I)Sx+15=x-1 Ny6x+2=x+22
4x -x=8+13
3x =21
x=21:3
x=17
OTBGT: X = 7 OTBET: X = OTBCT: X =
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